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int main() { Cuw Jwole 2935 ol jgbo 1Y xubgs g

int a[5] {1, 2, 3, 4, 5};

printf("%lu\n", (a));

int *ptr (int *)(&a + 1);

printf("%d %d\n",*(a + 1), *(ptr - 1));
0;
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// Assume that the size of int is 4.

void f(char **);

int main() {

char *argv[] = {"ab", "cd", "
f(argv);
return 0;
}
void f(char **p) {
char *t;
= (p += sizeof(int))[-1];
printf("%s", t);
}

ef",
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"gh", "ij", "k1"};
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#tinclude<stdio.h> ’

int £(int* p) {
printf("a = %d\n", *p); // a = 1@°?

}

int main() {
int a = 10;
f((int *) a);
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int *a[3]; Ql_.uw )9 b ga (SLCDJ..LQ_»O ugl.o_) ﬁ
int (*b)[3];

#include<stdio.h> s 1j IS dehd ogyh '5"

int main() {
int a[][3] = {1J 2, 3, 4, 5, 6};
int (*ptr)[3] = a;
printf("%d %d ", (*ptr)[1], (*ptr)[2]);
++ptr;
printf("%d %d\n", (*ptr)[1], (*ptr)[2]);
return 9;
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void factorial (int *res, int num) {
*res = 1;
for (int i = 1; i <= num; i++) {
*res *= 1i;
}
}

int main() {
int *res;
int num = 5;
factorial(*res, num);
printf("%d! = %d", num, *res);
return 0;
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"If man was meant to stay on the ground, god would have given us roots."

Input:



Step 1. Normalization:

"ifmanwasmeanttostayonthegroundgodwouldhavegivenusroots"

Step 2: 54 characters => ¢ = 8, r = 7, make rectangle:

"ifmanwas"
"meanttos”
"tayonthe"
"groundgo”
"dwouldha”
"vegivenu"

"sroots
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"imtgdvsfearwermayoogoanouuiontnnlvtwttddesaohghnsseoau”
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"imtgdvs!fearwerlmayoogo!anouuio!ntnnlvt!wttddes!aohghn !sseoau *

"imtgdvs"
"fearwer"
"mayoogo"”
"anouuio”
"ntnnlvt"
"wttddes"
"aohghn "

"sseoau "
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